
Exam 1 Guide

1.∫
x4e3x dx =

2.∫
4x− 1

(x+ 2)(x− 7)
dx =

3.∫
x4 sec2(x5) dx =



4.∫
sin5 θ dθ =

5.∫
x5√

1− 4x2
dx =



6.
(a)∫

2x sec−1 x dx =

(b)∫ +∞

0

e−4x dx =

(c)∫
sec3 θ dθ =

(d)∫
e2x sin 3x dx =

(e)∫
x2√

16− x2
dx =

(f)∫
3x2 + 8x+ 6

(x+ 1)3
dx =



Scratch work



Scratch work



sin 2x = 2 sin x cosx

cos 2x = cos2 x− sin2 x

cos2 θ =

(
1

2

)
(1 + cos 2θ)

sin2 θ =

(
1

2

)
(1− cos 2θ)

sinA cosB =
1

2
sin(A−B) +

1

2
sin(A+B)

sinA sinB =
1

2
cos(A−B)− 1

2
cos(A+B)

cosA cosB =
1

2
cos(A−B) +

1

2
cos(A+B)


